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Practice 11-1 Simplifying Radicals
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Simplify each radical expression. Assume that all variables under radicals
represent positive numbers.

1. V32 2. V22 -V3 3. V147 4 % 5. Vabd
2 /256 8
6. —2- 7. V30 8. V27 g, Y256 10. -5
V6 V32 V7
1. V12 12. VY96 13. V200 14, [ 15. V15 - V6
V12
16. V120 17. 4 18. (3v2) 19. V/250 20, Y685
V2a V13
21. V34 22, % 23, /4853 24, 3\/24 25. V15 - V35
6 \/48n® 27x2
26. V160 27. & 28. 29. V136 30. [2Ix°
\/:’; 6r3 256
3. Vil 32, V180 33. VI8-VE 34 (10V3)? 35, |1
vig (10v5) i
6. Vs0 37 Vas 38 V0 39. VB 40. V252
7 17 V48 V120 5
a1, |1 a2, L1 43, Y48 a4, Y120 45, 3_
2 64 V38 V10 Va2
46. V75 47. V300 48. V4943 49. /125 50. V28x4
7 15 V60 3 4
51, —L. 52, ,[12 53, Y60 54, 3 55, 4
V3 49 V12 V3 V8
56. /7253 57. /35057 58. \45:2,3 59. /42 60. Y4
* Vi3ix
61. 6V20 62. Vab3 63. Vot 64. 12\/60x2 65, (2\/37)2
66. Vi2:v27  67. (1V5) 68. V14 -V38 69. (5V5) 70. /By
71. V16a® - V522 72. V&8 -V7 73. V3x - sz 74. 2V5 - 2V/5
75. £V/3 - 2/32 76. 6V3-7V8 77. 10 78, V0
'\/; V2x
4 Viox V7 45
79, —4_ 80, V1Zx 81. g2, 2
V20 V27x 20x V8y
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Practice 11-2 The Pythagorean Theorem

Use the triangle ai the right,

Find the length of the missing q
side to the nearest tenth.

b
1. a = 12,b = 35,c = H 2. a=10b=H,c=126 B.a=11,b=H,c=61
4, a=36b=15c=H 5. a=8b=15c=8 6. a=80=24c+40
7. a=18,b=HB,c = 35 8 a=17,b=H,c =49 9. a=42,b=37c=H
10. a=8,b=80c =9 11. a=8b=8c=H 12. a = 19,6 = H,c = 26
13. a =86 = 27,¢ = 33 14, a=8,b = 13,c = 24 15. a =9 b =8, c =13
16. a = 19,6 = 45,c = H 17. a = 8,6 = 24,¢c =39 18. 2 = 14,b = 14,c = &

Determine whether the given lengths are sides of a right triangle.

19. 20,21,29 20. 16,30,34 21. 24,60, 66 22. 23,18, 14
23. 10,24,28 24, 45,28,53 25. £.3.1 2. 2,11
27. 3.5,44,5.5 28. 10.5,11.3,13.8 29. 33,6.5,5.6 30. 24,70,74
31. 42,7.0,56 32. 52,6.5,39 33. 2.1,3.5,2.8 34. 4.8,7.5,5.4
35. 7.5,4.3,6.7 36. 4,715 37. 1812 8. 111

Find the missing length to the nearest tenth.

39, A ladder is 25 ft long. The ladder needs to reach to a window that is
24 ft above the ground. How far away from the building should the
bottom of the ladder be placed?

40. Suppose you are making a sail in the shape of a right triangle for a
sailboat. The length of the longest side of the sail is 65 ft. The sail is to
be 63 ft high. What is the length of the third side of the sail?

41. Suppose you leave your house and travel 13 mi due west. Then you
travel 3 mi due south. How far are you from your house?

42. A wire is run between the tips of two poles. One pole is 23 ft taller than
the other pole. The poles are 37 ft apart. How long does the wire need
to be to reach between the two poles?

43. A 20-ft-long wire is used to support a television antenna. The wire is
connected to the antenna 15 ft above the ground. How far away from
the base of the tower will the other end of the wire be located?
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Practﬁce 1 1-3 The Distance and Midpoint Formulas

Find the midpoint of XY.

1. X(8,14) and Y(2, 6) 2. X(11,7) and ¥(3,19) 3.
4. X(-3,—-2)and Y(7,8) 5. X(—4, —1) and ¥(~8,5) 6.
7. X(-3,5) and Y{(8,9) 8. X(16, -8) and ¥(5,9) 9,
10. X(93,7) and ¥(73,5) 11. X(6, —2) and ¥(9, ~1) 12.
13. X(-7,-5)and ¥(~3,16)  14. X(—7, —17) and ¥(11, 4) 15.
16. X(3, —8)and ¥(—5,-13)  17. X(-2,2) and ¥(6, —13) 18.

Find the distance between each pair of points. If necessary, round to the
nearest tenth.

19. (3,0),(0,4) 20. (3,5), (12,17) 21. (—4,2),(2, —6)
23. (4,9), (15, 4) 24. (~7,4),(2,-9) 25, (6,~1), (=5, 5)
27. (13,-8),(2,15)  28. (16,-7).(-2,—-3)  29. (9,15),(5,12)

X(—7,6) and Y(11,-2)
A(6,15) and Y(4, 8)
X(0, —15) and Y(9, —15)
X(8, —13) and Y(1, —=7)
X(11,19) and ¥(6, —4)
X(—9, —4) and ¥(16, 12)

22. (5,-7), (9, ~2)
26. (9, 8), (1, 12)
30. (7,5), (-9, —6)

31. (-7,15),(19,2)  32. (9,-1),(11,—28)  33. (14, =29), (10, —25)_ 34. (2, —8),(8, —1)

35. (~11,1),(7,13)  36. (-1,9),(19,23) 37. (—9,33), (13,31)

39. AB is a diameter of a circle. The coordinates of A are (—1,3), and the
coordinates of B are (—5, 9). Find the center of the circle.

40. CD is a diameter of a circle. The coordinates of C are {—2, —3), and the
coordinates of D are (—12, --5). Find the center of the circle.

41. A quadrilateral is a parallelogram if the diagonals bisect each other.
Quadrilateral EFGH has vertices a E(—4, 3), F(2, 1), G(4,7), and
H(~-2,9). Find the midpoint of each diagonal. Is EFGH a
parallelogram? Explain.

42. A large building is on fire. Fire trucks from two different stations
respond to the fire. One station is 1 mi east and 2 mi north of the fire.

The other station is 2 mi-west and 1 mi south of the fires. How far apart .

are the two fire stations?

43. The Anderson and McCready families decide to go to a concert
together. The Andersons live 4 km west and 6 km north of the concert
hall. The McCreadys live 5 km east and 2 km south of the concert hall.
How far apart do the two families live?

44. According to the map, a ball field is 4 km west and 2 km north of where
you live. A theater is 1 km east and 4 km south of where you live. How
far apart are the ball field and the theater?

38. (7,2),(1, —2)
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Practice 11-4 Operations with Radical Expressions
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Simplify each expression.

1. 3V7 +5V7 2. 10V4 - V4 3. 4V2(2 + 2V3)

4. V45 + 2\V/s 5. 12V11 + V11 6. V2(2V3 - 4V2)

7. V28 + V63 8. 3V6 — 8V6 9. V3(V6 - V12)
10. V18 — V50 1. 4V2 +2V8 12. 13V15 - 11V15
13. 3(8V3 - 7) 14. 8(2V/5 + 5V2) 15. 17V21 - 12V21
16. V6(7 + 3V3) 17. 8(4 - 3V/2) 18. 2V12 + 6V27
19. 19V3 + V12 20. 8V/26 + 10V/26 21. V10(3 - 2V6)
22, 9V2 - V50 23. 10V - V13 24. 12V6 — 4V24
25. 5V/7 + V28 26. 8V/13 — 12V13 27. 13V40 + 6V10
28. —3V3(V6 + V3) 29. 1229 — 15V29 30. 10V6 — 2V6
31. 8V3 - V75 32, 3V6(2V3 + V) 33. 17V/35 + 235
34. V19 + 4V19 35, 129 — 4V/9 36. V8(V2-17)
37. \[—i"\/_g 38, —\7—5—\/5 39. \/§3+ :
a0. (V6 - 3)° a1. (3V5 + V5)? 42, WEW
a3. f-fwz% 44 -\ﬁ 45, H

Solve each exercise by using the golden ratio (1 + \/g) 12

46. The ratio of the height : width of a window is equal to the golden ratio.
‘The width of the door is 36 in. Find the height of the door, Express your
answer in simplest radical form and in inches.

47. The ratio of the length ; width of a flower garden is equal to the golden
ratio. The width of the garden is 14 ft. Find the length of the garden.
Express your answer is simplest radical form and in feet.

48, The ratio of the width : height of the front side of a building is equal to
the golden ratio. The height of the building is 40 ft. Find the width of
the building. Express your answer in simplest radical form and in feet.
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Practﬂce 11-5 Solving Radical Equations
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Solve each radical equation. Check your solutions. If there is no solution,
write no solution.

1. Vi+3=11 2. Ve+2=V3r-56 3. xr= V24— 10

4. Viax —7=1 5. Vx = Vix — 12 6. x = V1lx — 28
7.\/;=12 8.x=m 9..\:2m

10. V3x+5=Vx+1 1M1. Vx+3=35 12. Voxr —4 =Vax + 6
13. 2=Vx+6 14, x=V2-x 15 Vix + 2 =Vx + 14
16. Vx+8=9 17. x=V7x + 8 18. V3xr + 8 = Vax + 12
19. Vax +3=3 20. V3x+13=V7xr -3 21. x = V6 + 5x

22. V3x—-5=4 23. \V3x + 4 = Vax 24. x = Vx - 12

25. Vx—4+3=9 26. x = V8x + 20 27. 12 = Vx

28. x = V60 - 7x 29. Vx + 14 = Véx - 1 30. Vax—7=Vex+11

31, 7T+ V2x=3 .32, Vx+56=x . 33. 5+ Vx+4=12

34. The equationd = %arz gives the distance d in ft that an object travels
from rest while accelerating, where a is the acceleration and ¢ is the time.

a. How far has an object traveled in 4 s when the acceleration is 5 ft/s%?

b. How long does it take an object to travel 100 ft when the acceleration
is 8 ft/s2?
35. The equation v = 20Vt + 273 relates the speed v, in m/s, to the air
temperature ¢ in Celsius degrees.
a. Find the temperature when the speed of sound is 340 m/s.
b. Find the temperature when the speed of sound is 320 m/s.

36. The equation V = \/7,';—? gives the speed V in m/s of an object moving in
a horizontal circle, where Fis centripetal force, r is radius, and m is mass
of the object.

a. Findrwhen F = 6 N,m = 2 kg, and V = 3 m/s.

b. Find Fwhenr = 1m,m = 3 kg, and V = 2 m/s.
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PraCtice 11-6 Graphing Square Root Functions

Find the domain of each function.

1. fx) = Vx -7 2. f(x) = V3x - 12 3.y
4. y=Vx-12 5. f(x) = Vx + 14 6. y =
7. y= Visx + 13 8. y= V2x 9

Use a table of values to graph each function.
10. y = Vx - 12 1. y = 3V 12,y =

13. y=Vr+7-6 14. y=Vx—-6-8 15. y =

16. y=2Vx -2 17. y=Vx-8+6 18. y = Vx +7

Using expressions such as “shift up,” “shift down,” “shift left,” and “shift
right,” describe how each of ihe graphs compare to the graph of y = V.

19. y=Vx -9 20. y = Vx -8 21. y = Vx + 2
22. y=Vx—19 23. y = Vx + 18 24. y =Vx -3
25. y = Vx + 11 26. y = Vx + 14 27. y=Vx—4-7

28. The number of people involved in recycling in a community is modeled
by the function n = 90V3r + 400, where ¢ is the number of months the
recycling plant has been open.

a. Graph the function.

b. Find the number of people recycling when the plant has been open
for 6 mo.

¢. Find the month when about 670 people were recycling.
29. The time ¢, in seconds, that it takes for an object to drop a distance d, in
feet, is modeled by the function ¢ = %. Assume no air resistance.
a. Graph the function.
b. Find the time it takes for an object to fall 1000 ft.
¢. How far does an object fall in 10 s7
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Practice 11-7

Trigonometric Ratios

Use AABC to evaluate each expression.

A

1. sin 4 2. cosA 3. tan 4 4l l__|9

B

4, sin B 5. cosB 6. tan B 40 C
Evaluate each expression. Round to the nearest ten-thousandth.

7. tan 59° 8. sin 75° 9. s5n8&° 10. cos 13° 11. sin 32°
12. tan 67° 13. cos17° 14. cos 36° 15. tan 19° 16. cos 58°
Find the value of x to the nearest tenth.

17. 18. 19.
39 o o
75,_J ¥ |67 54 .
20. 21. .
X 17 22 42 .
5 73
5 13
32° * [
36

Use APQR to evaluate each expression. R
23. sin P 24. cos P 25, tan P 65 ’._116
26. sin R 27. cos R 28. tan R 63 Q

29. A tree casts a shadow that is 20 ft long. The angle of elevation of the
sun is 29°. How tall is the tree?

30. Suppose your angle of elevation to the top of a water tower is 78°. If the
water tower is 145 ft tail, how far are you standing from the water tower?

31. The angle of elevation from the conirol tower to an airplane is 49°,
The airplane is flying at 5000 ft. HHow far away from the control tower

is the plane?

32. A Boy Scout on top of a 1700-ft-tall mountain spots a campsite. If he
measures the angle of depression at 35° how far is the campsite from
the foot of the mountain?

33. A 12-ft-long guy wire is attached to a telephone pole 10.5 ft from the
top of the pole. If the wire forms a 52° angle with the ground, how high
is the telephone pole?
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Reteaching 11-1 Simplifying Radicals

OBIECTIVE: Simplifying radicals involving MATERIALS: None
products and quotients

The following are three examples of simplifying radicals. Simplifying each
radical makes it meet a condition that must be true to show that a radical
expression is in its simplest form.

Not in
Simplest Form

The Multiplication Property of Square Roots is used to simplify the radical.

Condition How to Simplify Simplest Form

The expression under Rewrite as a product of

the radical sign has no perfect squares and

periect square factors other factors.

other than 1. V20 =V4-5 V5

-4\

The Division Property of Square Roots is used to simplify the radical.

The expression under Separate into two :
the radical sign is a 6 radical expressians. 4 )
fraction. 75 Simplify each separately. 3

V16
Va5

The denominator Rationalize the

contains a radical denominator by

expression that is not a multiplying the fraction

perfect square 3 by a radical expression M
V2 equal to 1. 2

3 V2

V2 Va2

Simplify each radical expression.

1. V2-V12 2. 3V5-2V5
4. V3-V36 5. V18

7. 228 8. %
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ReteaChing 11-2 The Pythagorean Theorem

OBJECTIVE: Finding the lengths of the sides of a MATERIALS: None
right triangle

As you solve problems using the Pythagorean Theorem, keep in mind
these ideas.

o In the formula, a and b represent the /egs of the right triangle.

e The hypotenuse is represented by c. This is the side opposite the
right angle.

o Drawing a picture of the triangle each time is a good strategy for
making sure you use the formula correctly.

¢ Writing g, b, and ¢ on your picture with the values from your problem
gives you a visual representation of your problem before you solve it.

¢ @=3 ~— Draw a triangle and include the values from the problem for 4, b, and c.

a?+b>=c% ~«— Usethe Pythagorean Theorem.
32+ p2 =52 ~<— Substitute 3 for a and 5 for c.
9+ b%=25 —— Simplify.
b?> =16 ~— Subtract9 from each side.
VB2 =V16 ~— Take the square root of each side.

b=4 =~ Usena calculator if necessary.

“Exercises

Draw and label a triangle. Find the length of the missing side to the
nearest tenth.

1. a=6b=8,c=10 2.a=8p=4c=10 la=5b=12c=H

Find the length of the missing side to the nearest tenth.

4, a=@,b=5c=7 5. a=4b=H8H,c=9 6. a=75b=4c=8
7. a=5b=8.c=12 8. a=8b=8.c=17 9. 0=06b=8c=H
10. a= @A, b =24,c =125 M. a=4b=3c=H 12. a =96 =H,c=15
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ReteaChing 11-3 The Distance and Midpoint Formulas
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OBIJECTIVE: Finding the distance between two MATERIALS: None
points in a coordinate plane; finding the
coordinates of the midpoint of two poinfs

The following strategies may be used to help you apply the distance formula
or the midpoint formula correctly.

e« Underline the x-coordinates.

° the y-coordinates.

Find the distance between (2, 5) and (—1, —3). Round your answer to the
nearest tenth.

2®), (-1,E3) - Underline the x-coordinates and cirele the y-coordinates.

d= \/ (x; — x7)% + (9 — y1)? -— Write the distance formula.

d= \/ (2 - (—1))2 + (5 - (—3))2 —— Substitute the underlined numbers for x-coordinates
and the circled numbers for the y-coordinates, in
corresponding order.

=V3 + & ~— Simplify.

= 8.5 ~— Use a calenlator. Round to the nearest tenth.

Find the distance between each pair of points. Round your answers to the
nearest tenth.

1. (4, -2),(0,4) 2. (2,5).(~1,-3)
3. (4,-2),(-3,5) 4. (-3,-2), (4, —1)

The midpoint of a line segment with endpoints A(xy, y,) and B(x,, y,) is
+ + AB
(___xl *2 u) Find the midpoint of AB.

2 * 2
5. A(2,4) and B(0, 6) 6. A(—6, —2) and B(4, —1)
7. A(-2,4) and B(-6, 8) 8. A(—3,6) and B(—5,0)

m Lesson 11-3 Reteaching Algebra 1 Chapter 11
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ReteaChing 1 1 -4 Operations with Radical Expressions

OBJECTIVE: Simplifying radical expressions MATERIALS: None

¢ Underline radicals not in simplest form.

. like terms. They can be combined.

Simplify V27 + 2V/3.
V27+ 2\/3 ~«— Underline radicals not in simplest form.

V9.3 +2V3 «— Rewriteasa product of perfect squares and other factors. 9 is a perfect
square and a factor of 27.

V9-V3 +2V3 «— Usethe Multiplication Property of Square Roots.
3V3 + 2V/3 ~— Simplity V9.

(3V31+@V3) ~— Cirdio) like terms.

5V/3 ~— Combine like terms by adding the coefficients.

Simplify V/5(2 + V10)
\/5(2 + \/@ =2V5 + V50 ~— Use the Distributive Property.

= 2V5 +V25-V2 ~— Use the Multiplication Property of Square Roots.
2Vs + 5V2 ~— Simplify. |

Underline radicals not in simplest form and circle like terms. Simplify
each expression.

1. 3V24 — 26 2. 6\V3 + 43 3. V27 + V3
4. 312 - 7V3 5. 10V6 — 3V6 6. 6V7 - V28

Simplify each expression.

7. V5(V5 + 2) 8 (V2+1)(vV2-1) 9. V2(V2 - V3)
10. (2V3 + V5) 1. (3V2 - V5)(2V5 + 4v2) 12, (2V3 + 1)(V3)
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ReteaChing 1 1-5 Solving Radical Equations
OBJECTIVE: Solving equations that contain MATERIALS: Index cards or pieces of paper of a
radicals similar size

A radical equation has a variable under the radical sign. The radical
expression must be alone on one side of the equal sign before squaring.

Jubal solved a radical equation, showing all the steps. He wrote each step on
a separate index card. Then he dropped the pack of cards! Number each of
his cards to show the correct order of his steps.

The number in the lower left corner shows the correct order for the steps.

Vy =4 3+Vy-3=7-3

The solution of

3+ Vy=7is 16

Solve each radical equation.

1. V3a—-9=10 2. Vun—2=3 3.c= V3-8
a. Vb -6=-2Vbh 5. 5 =V24 — 10s 6. Vix—1=V3x+9
7. Viy+1=6 8. Vix—-3=2 9. V2x+1=5

m Lesson 11-5 Reteaching Algebra 1 Chapter 11
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ReteaChing 11-6 Graphing Square Root Function:

OBJECTIVE: Graphing and exploring square MATERIALS: Graph paper
root functions

Make a table of the values for x and y. These values can be plotted as
ordered pairs.

Make a table and then graph the function y = V6 + .

Step 1 Select a domain that makes the expression under the radical greater
than or equal to zero,

6+x=0
x= -6

Domain = —6§, -5, -2,3,...

Step-2-Make a table like the one below. Replace x - Step 3 Use the values for x and y from the
with each member of the domain to find y. table to graph the function.
Domain | Replace x to find y. | Range eall
X V6 + x ¥ = Hol=
-6 |Ve+ (<6 =0 —6p—g—p ] 1
-5 | V6+(=5)=V1 T

-2 | VE+ (-2) =V4
3 V6 +3=V9

What do all of the y-values have in common? They are all positive.

LI o

Graph each function using Steps 1-3.

1. y=V4+x 2. f(x) = Vx—2 3.y=v.r—3

- Graph each function.

a4 y=Vxi-1+2 5. f(x) = Vx —4 6. f(x) = V5 —x + 1
7. ) =Vi—-1-2 8. f(x) = Vx +3 9. f(x)=V1-x+3
10. fx) =Vx+5-1 M. f(x)=V3x+1+2 12, f(x) =V3-2x+2
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ReteaChing 1 1"7 Trigonometric Ratios
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OBIECTIVE: Exploring and calculating MATERIALS: None
trigonometric ratios

To make sure you are applying a trigonometric formula correctly, you shouid
label the triangle’s adjacent leg, opposite leg, and hypotenuse before you get
started. Remember these key points:

o 'The hypotenuse is opposite the right angle.

o Adjacent means next [o.

¢ Use a pencil when labeling sides so that your marks can be erased
when the problem is for a different angle.

For AABC find the sine, cosine, and tangent of 2 A and £B. A ot
12 C
For £ A For 4B

hypotenuse B

hypotenuse B ] Redraw and label the sides of 3 .
ﬁ 5 0‘pp051te AABC for sine, cosine, and tangent A 5 af:ljacent
A side of 24 and 2B, A side

12 C 12 C

adjacent side opposile side
For LA Trigonometric Ratios For 2B
. _ 5 , _ length of opposite leg . _ 12
sinA = 73 SI€ = Tength of hypotenuse sin B = 73
_12 , _ length of adjacent leg _ 5
cosA = 13 COSMIE = Tength of hypotenuse cos B = 13
_ 5 _ length of opposite leg _ 12
tand = j3 tangent = length of hypotenuse tan B = -3
B
Use AABC to evaluate each expression. 5
1. sin A 2, cosA 3. tanA ?
4. sinB 5. tan B 6. cos A c 1z 4

--..........I...l'..'.'..‘."‘..l..-..ll.IIIIIl.I.Il...-‘...‘.l.l...ll.l.Il.l

m Lesson 11-7 Reteaching ‘ Algebra 1 Chapter 11

© Pearson Education, Inc. All rights reserved.




© Pearson Education, Inc. All rights reserved.

Chapter 11 Answers

Practice 11-1

1.4V2 2.4V11 3.7V3 4. \g—? 5. ab™Vb 6.“_3\/_5
7.4V5 8.3V3 9.2V2 10.87\/5
13.10V2 14, \f 15.3V10 16.2V/30 17.-3m\~/5_2—“
18.
23,
28.
33.
39,
45,
50,
55.
59,
63.a
68.
72.
77.

B2.

58V2 19.5\/10 20.V5 21,7V 22.%
V35 28.6V6 25.5V/21 26.4V10 27.2V3

V2n 29.2V 34 30.M 31.:11:1\/!; 32.2\/§
12 34.300 35, " 36.5V2 37.4V/3 38.2V5
V2 40, 5¢ 41.% 4.2.—————"8 43.6 44.1\/3

%ﬁ 46.5V/3 47.10V3 48.7aVa 49.5\/5
2w2V7 51.1¥ 52.@ 53.V5 54.\/3

V2 56.6:V2r 57.5V2y 58.35\/35y
2¥11 60.2Y3% 61,125 62.6Vab

3
3V 68.24xV/15 65.12 66.18 67.245

7 69.125 70.23V2y 71.422V5a

V14 73.xV15 74.20 75.8V6 76.84V6
10}/; 73.32"fo 79. 2‘5/5 80.2 g1, 3V

T1bx
V 10y

y

Practice 11-2
1.37 2.24 3.60 4.39 5.17 6.32 7.30.0 8.46.0
9.560 10.412 11.11.3 12.17.7 13.19.0 14.202

15.
19.

21.
23,

25.

27.
29,
31.
33.
35.

36,

37.

38.
41,

94 16.488 17.307 18.198
yes; 20 + 21% = 292 20. yes; 16% + 302 = 342
no; 24% + 50- # 662 22.n0; 147 + 182 # 232
no; 10% + 242 # 282 24, yes; 45 + 28% = 537

()} + (@ (3] ()

10:3.5% + 442 2 552 28.10:10.52 + 11.3% # 13.82

yes;3.3% + 562 = 652 30. yes; 742 + 702 742
yes;4.2% + 56% = 7.0% 32, yes;5.2% + 392 = .52
yes; 212 + 282 = 352 34, noj4.8% + 547 = 7.5
00;6.7% + 432 # 752

(]~ (3 6]
S OROR0)
wOROMO)

133mi 42.436ft A3.1321t

olu

39.710t 40.16ft

1. 2223 12.2V2

Practice 11-3
1.(5,10) 2.(7,13) 3.(2,2) 4.(23) 5.(—6,2)

1 1 11 1 _
6. (5, 112) 7. (22,7) 8. (10—2, 2) 9, (42, 15)
1 1
1 1 1 -1
13( -5, 55) 14( —62) 15. (82,72)
16 (~1 —10—1) 17 (2 —sl) 18 (3l 4) 19.5
. 1 2 - 1 2 . 21 -

20.15 21.10 22.64 23.121 24.158 25.125 26.89
27.255 28.184 29.5 30.194 31.29.1 32.77.1
33.57 34.92 35.216 36.244 37.221 38.72
39.(-3,6) 40.(-7,—4) 41.yes;(0,5) same midpoint
42,42 mi 43.120km 44.78km

Practice 11-4

1.8V7 2.18 3.8V2 + 8V6 4.5V5 519V11
6.2V6 — 8 7.5V7 8.-5V6 9.3V2 -6

10. -2V2 11.8V2 12.2V15 13.240\/3 - 21
14.16V/5 + 40V2 15.5V21 16.7V6 + 92

A7.32.- 242 18.72\/3 19.21V/3 20.18V26
21.3V10 - 4V15 22.4V2 23.313 24.4\V5

25.7V7 26.-4V13 27.32V10 28.-9V2 - 9
29. -3V/29 30.8V6 31.3V3 32.18V2 + 18
33.19V/35 34.5V19 35.24 36.4 — 142
V3 -V2 33.—5\/'7;“5\/5

37.
39, ‘3\/5 15 "3(\2; -3) 40.15 — 6V6 41.80
42“7\[ 433+\/_444(\/_+3)

g5 14— 9\/. 46.18 + 18V/5: 58 in.

47.7 + 7\/_ 523 48.20 + 20V/5: 65 ft

Practice 11-5

1.64 2.4 3,2 4,16 5.4 6.4,7 7.144 B.4,8 9.5,8
10, nosolution 11.22 12.5 13.-2 14.1 15.4 16.1
17.8 18.4 19.11 20.4 21.6 22.27 23.2

24. no solution 25.40 26.10 27.24 28.5 29.3

30. no solution 31.nosolution 32.8 33.45 34a.401#t
34b.5s 35a.16°C 35b.—17°C 36a.3m 36b.i2N

Practice 11-6
1.x=7 2.x=4 3.x2—%

6. x> —8 7._1-2—1?_3 8.x=0 9.r=0

4. x=12 5.x=—-14

Answers

l.l.lll-l.o....l.t---.---l---c-ll.lncl-l--.'.Uui.-lnc..l.lltll.cnclullllﬂ!.!.m
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Chapter 11 Answers (continued)

10. [Ty T Tx 16. 1y
ol |3 | 16| da 8 g
Q. /’ R
© - #
Y.
=06 X
O 4 3 12
11. 7
A i 451
8 i
~ -
- r X %
0 4 !
X
O 3 1w | 24
12 \
ol LMY’
TL
posip—|
4 —
1| BT
X
-3 -4 |0 4 4
4 j X
: o [ A ] 8|1k
13. (3 B B .
& 19, shift down @ 20. shift down 8 21. shift left 20
22, shift right 19 23. shift left 18 24. shift right 32
HEd 25.shift up 11 26. shift left 14
-4 |0 . 27. shift right 4 and shift down 7
'—’
4’ 28a. ahnl //
,/ T [V Y]
=hn /
sl oy
5H6 /
Wy 4p0
v 316
X 26
ol [ & [ 16| 2a iligrs) P
] — P4 p & I0
] |
,’
i 28h. 782 people 28¢. 3 mo
29a. F
15. Ay 12 L
a
4 Fad P
jd /—-" 3]
A1 = *
o] 8 | 16| 2 “ d
0 5(;)0 1000 1500
i 29b.795s 29c. 1600 ft

[(E R R R NN ENNNEERNRENEREERENNENNENNNRENNNEINGNERINHNIENHRNEIRNNREJICER RN NNRERERRENNNRENNREESSENREXS]
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Chapter 11 Answers (continued)

Practice 11-7

40 5 9 240 4 9 40 - 9
1':1T Z'H 3.‘—9" 4'H S'H G.m 7. 1.6643
8.09659 9.0.1392 10.09744 11.0.5299 12.2.3559
13.0.9563 14.0.8090 15.0.3443 16.0.5299 17.10.1
18.127 19.254 20.225 21.38 22.402 23.%

63 55, 16 36 63 57 16 .9 63
24,72 25.53 26,82 2105 28.7¢ 29.1L1ft

30.308f 31.43464 0t 32.2428ft 33.20f

Reteaching 11-1

1.2V6 2.30 3.16V5 4.6V3 5.3V2 6.5-3\[-3
7.4\/7 3.45ﬁ g, V14 10.% 11.% 12.4

5

Reteaching 11-2
1.8 2.92 3.13 4.49 5.81 6.85 7.109 8.15 9.10
10.7 11.5 12.12

Reteaching 11-3

1.72 2.85 3.99 4.71 5.(13) 6. (—1,—1%)
7.(~4,6) 8.(-4,3)

Reteaching 11-4

1.4V6 2.10V3 3.4V3 4.4V3 5.7V6 6.4V7

7.5+ 2V5 81 9.2 - V6 10.17 + 4V15
11.14 + 210 12.6 + V3

Reteaching 11-5
1.27 2.11 3.nosolution 4.4 5.2 6.5 7.-’3—5 8.5
9.12

Reteaching 11-6
1.

Rz 21
= ’# f
- = |
ol Ix Ho X
—4—B—P 1 2 L2845 6
T1 !
__2 s
=3 E
3 7 4, 17
F p)
s 1 il acall
= — =+ —
1 o X E:'l‘
I 2B 45 6 =
=T Moy x
B TR
=2 L

5. 5 b. ¥
i 0O = -:
IH R REER] -
L el -J; -
2 — -:
_3 1 O X
“_i L2 H 45 6
b5 =t
7 y 8. ly
ra o -
all a il
O] [ 27 | éx N
=2 / 2
X
i of [ 34148
9 v 10. [y
) - .
[ - [
L - X
R 124 -3 To
&
" Z
-4 |=2 [0y |
11. [y - 12 1y
& > ~ b
A o \“‘
4 L~
Z Z
X X
of | 3 4]le6 -4 _[=1 |0

Reteaching 11-7

357433 4454
1.5 23 3.7 45 53 6.

Ll

Enrichment 11-1

1.1,16,81,256,625 2.4096 3.10,000 4.14,641 5.20,736

6.50,625 7.160,000 8.16 = 2% 9.1296 = 6°

10.256 = 4% 11.2400 = 7% 12. 6561 = 9*

13. 10,000 and 100,000,000

14. The power of 10 and the number of zeros must be a
multiple of 4. 15.10' = 1,000,000,000,000

Enrichment 11-2

1.5,12,13 2.8,15,17 3.15,20,25 4.10,24,26 5.6,8,10
6.9,12,15

Answers
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